POTENTIALLY USEFUL INFORMATION (SOME EQUATIONS ARE ONLY VALID IN
SPECIFIC SITUATIONS):

Conversions and constants: g=98m/s> G=6.67x 10" Nm’kg®  pyue= 1000 kg/m’
L= 10" W/m? I1m=3281ft 1 mile = 1609 m 1 kg = 2.2 pounds
1 pound =445N lhp=746 W 1 atm = 1.013 x 10° N/m?

! 1D or 2D motion:
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Quadratic formula:
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Area of a circle = wtr® Volume of a circle = 4nr'/3
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P=Py+pgh A A A1 Vh = AV,
| 3
B = pfruid - Vituid - 9 o Mavg = QkBT
1 N
P + épvf + pgy1 = const. P = VkBT
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T[°C] = T[K] - 273.15 TUCl=g(T"F]-32)
AL = aLoAT  AA = A AT AV = BVoAT
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r = Acos (2rft) v = —Awsin (27 ft) a = —Aw? cos (27 ft)
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